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@ 3x=4-x ] © 4x-2x=x+1]q

© 1.5x + 2.5x = 4x [d] ® bx=-x+2[u

@ 2x-9=-x+38 [d] @ 8-6x=0 1]

® —4x+3=4x+4 [i] © x2-2x-4=01

@ Tx-5=—6x [0] ® -3x+1=-x+3][n
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@3x=4-x: 3x+x=4 (LAFHAolt})
O4x-2x=x+1: 4x-2x—-x=1

(QAREH Aol

©® 1.5x+25x=4x : 1.5x+ 2.5x—4x = 0°]A
0 =0 (¥Ag784o] ofyt.)

@5x=-x+2: bx+x=2 (LT |t})
®2x-9=-—x+8: 2x+x=8+9
(A Aoltt)

®8-6x=0: (LAFHA 0|t}

X —4x+3=4x+4: —4x—-4x=4-3
(AP Aol k)

©x*-2x-4=0: (ExFAA o] ofrt,
@ Tx—5=—6x: Tx+6x=>5 (ZxFHF Aot}

@R -3x+1=-—x+3: -3x+x=3-1

(YA Aloltt)
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® 3x+6-3x @ x*+1=-x
® 2x-1=3(x-1)-x (‘D)x—l—xE—i-?)zx2

xX+x+1=x
® 241
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@DxP+x+1=0
®2=0
@x+3=0
®@x2+1=0
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